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Answer all the questions on the mark-reading sheet supplhied Caiefully follow the instructions for
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* Only one option (indicated as [1] [2] [3] [4]) per question 1s correct Do not mark more than one
option per question on the matk-reading sheet

¢ Where necessary answers are rounded off
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» The paper consists of 25 questions for a total of 100 marks

Please write your name on the mark-reading sheet This will enable us to link you to the
mark-reading sheet should you enter your student number 1ncorrectly.
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Question 1

A biscut manufacturer uses 200 g of flour, 50 g of sugar and 100 g of butter for each packet of biscuits
produced Write an expression for the amount of butter needed to produce x packets of biscuits.

1] 100xkg
[2] 00lzkg
[B] Olzkg
M4 s&rks
Question 2

Sumphfy the following expression as far as possible.
2b%(a — 1) - 8a(d® + 1)

1] 2ba? —2b* — 8ab® — 8a
2 —6ab®— 20 -8a

[3] 8a—2b° —6b%e

[4] -a-b—6at?

Question 3

Simplify the following expression as far as possible
3 (2cr.2b3)2 x 3a%h?
{1 18al2p'2
2 6a"%?
[B]  36a"0?
[4] 36a'2b'2

Question 4

Simplify the following expression as far as possible

4/ 1636416
[1]  42'®®
[2] 8a0y
[8] 4oyt
[4] Smlsys

Page 2 of 13



Question 5

Solve the following equation’

2(3a+1)=7—4a

[]
[2]
8]
4]

BB & B
nmn i
i Qs i 010

It

Question 6

Solve the following equation

= _1_z
5 25
1] =z=2}
Rl ==}
B =2
M w=-3
Question 7
Simphfy the following as far as possmible
2 3
T
y 4
214
[ &=
6
€ &
B %
4 %
Question 8
Simplify the following expression as far as possible
2.5
3  4b
3
2 &
Bl »
4 3
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Question 9

Simplify the following expression as far as possible.

5 3.6
6 4 5
i
2 13
B -%
4 %

Question 10
Ifp=m?-— %, make x the subject of the formula

] z=2m?-2p
Pl =% -%

B z=2m-2p
4] z=2-2m?

Question 11
Determine the equation of the straight-line graph that passes through pomts (3, —2) and (5, —6).

[} yv=-4z+14
2 y=2r-8
B y=2r-4
4 y=-2x+4
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Question 12

Consider ihe sketch below A semi-cucle with centre, M and a diameter of 18 cm 1s drawn mside a
rectangle ABCD EAD 15 o tnangle

i

A
12cm
M
__ _ - e S
B I8 cm

Calculate the perieter of the shaded figure

(1]
(2]
[3]
(4]

76,47 cmn
104,75 ¢m
64,47 ¢cm
142,77 cm

Question 13

Reler to the sketch 1n question 12 above
Calculate the aea of the shaded repion

(1]
[2]
(3]
[4]

142,77 cm?
338,94 cm?
397,23 cm?
241,73 cm?
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Question 14

A contamner with a length of 40 cm, a breadth of 30cm and a height of 10cm contains 12 1dentical cans
each with a diameter of 10cm and a height of 10cm The remaining space 13 filled with sand How
much sand was requred?

{1] 11,06 htres
[2] 2,58 htres

(3] 25,70 htres
4] 11,21 litres

Question 15

A plumber charges a call-out fee of R180, plus R240 per hour to do a job How many hours did he work
if the spares he needed cost R400 and the total bill was R1 7807

1] 5 hours
[2] 9 hours and 50 mmutes
[3] 7 hours and 25 minutes

[4] 5 hours and 45 minutes
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Question 16

The mchning block tanffs per month for residential water for the 2016/2017 financial year are given
below

Household water n kilohtre (k) | Rand per k¢
0-6 k¢ (£200¢ per day) 8,66
712 ke 12,36
13-18 kf 16,23
19-24 kf 18,78

These tariffs do not include VAT
What is the water bill, excluding VAT for a month in which a household uses 10 kf of water?

(1] R105,10
[2] R210,20
[3] RI123,60
[4] R101,40

Question 17

In 2016, 1t cost R1360 to study a semester module m Economic and Management Sciences at Unisa
If an 8% increase 1n fees 1s implemented for 2017 how much more does 1t cost to study ten of these
modules in 2017 than 1n 20167

[1] R108,80
[2] R1360,00
[3] R1088,00
[4] R14688 00

Question 18

I have 20 apples and 10 oranges in a basket If I take 4 apples out of the basket, what is the ratio of
the number of oranges to the number of apples in the basket?

1] 85
2 12
[ 58
[4 103

Page 7 of 13



BNU1501
8 May/Jun 2017

Question 19

Braun mnvested R8 350 1n an account that pays sumple interest After six years, the accumulated amount
was R12859. What was the simple interest rate on this investment?

(1] 7.46%
[2] 584%
B 9,00%
4 423%

Question 20

What should be the annual mterest rate, compounded daily, for an investment of R8000 to earn R3 000
interest 1n three years’ time?

n 12,5%
2] 10,6%
B 32,7%
4 112%
Question 21

Malibongwe secured & bank loan to pay for his new car He repays the loan by means of weekly payments
of R1250 for a period of five years, starting the week after the loan has been granted The interest rate
18 24% per annum, compounded weekly What is the purchase price of his new car?

(1] R189034

[2] R625886
[3] R325000
[4] R 82657

Question 22

Brenda secured a 20-year loan of R400000. She repays the loan i equal monthly payments The annual
interest rate 18 16%, compounded monthly. What 15 Brenda's mmmum monthly payment?

(1] R231,69

[2] R5565,02
[3] R1666,67
[4] R5622,23

Question 23

Consider the amortisation of Brenda’s loan in question 22 above
What will the outstanding balance be after all the minmum payments have been made for 15 years?
Assume the nterest rate stayed fixed for the whole period

(1] R369180,76
[2] R375000,00
[3] R0,00

[4] R228843,24
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Question 24

Refer to Brenda’s loan in question 22 above
Suppose Brenda decides to pay R6000 per month into this loan account from the start In how many
years will she pay off the loan?

[1] 41,5 years
2] 165,9 years
3] 13,8 years
[4] 66,7 years

Question 25

Samantha decides to invest money regularly to become a millionaire m ten years’ time She manages to
secure an mterest rate of 24% per annum, compounded monthly She starts malking monthly payments
nto this account How much should she invest per month 1n order to have R1 000000 at the end of her
ten-year saving plan?

[1] R2048
[2] R8333
[3] R48825815
[4] R7535

TOTAL: 100
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MARK READING SHEET INSTRUCTIONS

Your mark reading sheet 1s marked by computer and should therefore be filled in thoroughly and
correctly

USF ONLY AN HB PENCIL TO COMPLETE YOUR MARK READING SHEET
PLEASE DONOT FOLD OR DAMAGE YOUR MARK READING SHEET

Consult the llustration of a mark reading sheet on the reverse of this page and fullow the imstructions step by
step when working on your sheet

instruction numbers 0 to @ referto spaces on your mark reading sheet which vou should fill 1n as
follows

0 Write your paper code in these eight squares, for instance

P{StIY{1|0]0]-|X

®

‘The paper nember pertains only to first-level courses consisting of two papers

WRITE | 0 | 1 | forthe first paperand | O | 2 | for the second If only one paper, then leave blank

Fill m your imuals and surname
Fill in the date of the examination

Fill i the name of the examtnation centre

Q000

WRITE the digits of your student number HORIZONTALLY (from left to night) Begin by filling in the

first digit of your student number n the first square on the left, then fill in the other digits, each one in a
sepdrate square

in each vertical column mark the digit that corresponds to the dygit m your student number as follows
[-]
WRITE your umique paper number HORIZONTALLY

NB Your unique paper number appears at the top of your exarmination paper and consists only of digits
(e g 403326)

®

19 In each vertical column mark the digit that corresponds to the digtt number 1h your unique paper
anumber as follows [-]

10 Questton numbers | to 140 indicate corresponding question numbers i your examination paper The

five spaces with digits 1 to 5 next to each question number indicate an alternative answer to cach
question The spaces of which the number comrespond to the answer you have chosen for cach question
and should be marked as follows [-]

’ For official use by the invigilator Do not fill in any information here
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